Volume [% RGI]

RGIO1 (dash=stop). Stop crit 5 (A V < 0.1% Vgg)
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Volume [% RGI]

RGI02 (dash=stop). Stop crit 5 (A V < 0.1% Vgg)
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Volume [% RGI]

RGIO3 (dash=stop). Stop crit 5 (A V < 0.1% Vgg)
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Volume [% RGI]

RGI04 (dash=stop)
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Volume [% RGI]

RGI06 (dash=stop). Stop crit 5 (A V < 0.1% Vgg)
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Volume [% RGI]

RGIO7 (dash=stop). Stop crit 5 (A V < 0.1% Vgg)
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Volume [% RGI]

RGI08 (dash=stop). Stop crit 5 (A V < 0.1% Vgg)
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RGI09 (dash=stop). Stop crit 5 (A V < 0.1% Vgg)
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RGI10 (dash=stop). Stop crit 5 (A V < 0.1% Vgg)
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Volume [% RGI]

RGI11 (dash=stop). Stop crit

5 (A V<0.1% VRGI)
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Volume [% RGI]

RGI12 (dash=stop). Stop crit 5 (A V < 0.1% Vgg)
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RGI13 (dash=stop). Stop crit 5 (A V < 0.1% Vgg)
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129 | peeersweem e e - ———
1.1 - ’l
1.0 - ~— 1851-1870
1901-1920

0.9 - ~— 1951-1970

—— 1995-2014
0.8 A
0.7 A
0.6 A

0 1000 2000 3000 4000 5000

time




Volume [% RGI]

3.0 A

RGI16 (dash=stop). Stop crit 5 (A V < 0.1% Vgg)

2.5 A

2.0 A

1.5~

1.0

—— 1851-1870

- 1901-1920
—— 1951-1970
—— 1995-2014

PR ION HEdhd AT SRS AL S AR RN R RN

0 1000 2000 3000 4000 5000
time




Volume [% RGI]
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